Math 251. WEEK in REVIEW 1.  Fall 2013
1. a) Find the center and radius of the sphere
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b) Find an equation of the sphere given that it touches the yz— plane and has the center

at (2,1,3).
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2. Describe in words the region of R? represented by the equation or inequality.
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3. Find the area of the triangle with the vertices P(1,1,0), (1,0,1), and R(0,1,1).

Q1,9,))

P(H.D) )Z/O,/,ﬂ

s [T 7 F
PQ)‘PE:/D -l J =
~l 0 l

2

A=1 P2 xPR]

= <0q1>
—
=<~ 0,17

Col i el
=7-7-Z

=h-l~1>

4. a) A constant force of F' = 37+27—k moves an object along the line segment from (1,0, 2)

to (3,4,5). Find the work done.
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b) Find the angle between the force and the displacement vectors in question a).
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6. What restrictions must be made on b so that the vector 2¢'+ b 1s orthogonal to vector
=37+ 27+ k7 to vector k7
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7. Find an equation for the plane containing two lines
Li'# =< 0,1,~2> +t <2,3,—1 > and
L7 =<2,-1,0>+t < 2,3, -1 >.
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8. Find symmetric and parametric equations of the line through the point M (2,0, —3) and
a) parallel to the r-axis;
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b) parallel to the line of intersection of the planes 3z —y+22z—7 = 0 and z+3y—2z—-3 = 0.
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9. a) Verify that the given planes
2r+y—3z+4=0and 4z +2y —62=3

are parallel and find the distance between them.
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b) Find the distance from the point (1,0, —1) to the line
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10. Find an angle between the planes
2r+2y —z=4 and 6z — 3y + 2z = 5. -
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11. Determine whether the line through (2, 1,0) and (1,0, 1) and the line _ y=3 _Ite

are parallel, skew, or intersecting. If they are intersecting, find the point of intersection
and the angle between the lines. If they are parallel or skew, find the distance between
the lines.
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12. Find the point at which the hn -@mtersects the
plane 2x- y+z 2
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